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Directions for the following 4 (four) items

Read the folloofrg ﬁlur pussogen and anawaer the
ttema thot follow, Yeur wnpery 1o theae itema alipneled

be biraed on the passugisa only,
Fussage -1

Regmurchers simulated atreel lighting oo
artificinl grosaland plote sontaidning pea-aphids,
sApFSUCking insects, gt bt These wery expoged
to twa diffiront types of light — o white Hght
similer to newds commersial LED lights and an
amber light similur {0 sedium street lamps, The
low fntensily wmber Hght was sbiown 1o inhihit,
rather thin Induce, fowering in @ wild plant of
the pen Fimily which 18 a gtwree of food Tor the
pea-aphids in prasslands. The member of aphids
wis diwo signifiesntly supprogsed under che Hight
treatimient due to the Hmited amount &f food
aviilphly.

L. Whieh ene of the (llowing statemnnts best
reflectn the most critioal inference (hut van

be made from thi: passage gven aboye *

(i) Low intensity lyght hea mare adverse
effect an thy pluntsas eomparod Lo high

intenaity light.

{b)  Light pollution can hawe o pormaonent

adversn impact om:an enEvEbem.

te)  White light i¢ better for the Nowering of
plante us comparid to the Hght of othor

oulours.

(4 Propor intensity of light in on ecosvitem
i impartant not only for plants but for

mrdisiple tiva.

BXC-B-GYLI

Passnge - 2

Appraximolely B0 percent of all flowering
plant species are polllnsted by animals, including
birda mnel mammals, bul the main paliinators are
insects., Pollindtion i= responeible for providing
us with a wide variety of food, as well as meny
plant-derived medicines. At lonat one-third of the
world's  mgricoltoeal  orgps depend  Gpan
pollingtion. Bees are the modtl dominant s
when it comes to pallination wrd they sre erueinl
o more then fur hundrod crops. Pollination s
An eggentind service thul i the remlt nf intricate
relitionships hetwoon plunts and animals, and
the reduction or loss of erther affects 1he survival
of both: Effective pollinstion requires resourees,
sitch as refupes of pristine fatiurnl vopetation.

2. U the basis of the passage mven shove, the

following wssumptiong hove beon made -

L. Bustainahle production of Indin's gureal
food graing 18 tmpossible withoul the
diversity of pollinating amimals,

2. Monoculture of horticoltuesl
hompera the survival of insecta.

%  Pollinstors bocome scaree in oultiveted

ETUpS

arean devoid of nutural vagetalion,

4. LHversily in insects inducos diversity of
plants.

Which of the above assumptions lefre

walid ?

fal 1 only

bl 2, 3 and4only
i land Zanly
i) 2 and £ only
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e -8 e - 4

AmEE W owEn A g ety oA AT FEE AefEE A (LPAY
vy WIZE @ IR FE e gRa T A (=g | T 57 A e
% www W Few e e 1§ s s fisn w2 W = I A W AnE 6 |
SUREERENE S o vev g e o o B e LB e
T WO S S | 5 e it mﬁ%ﬁ'mmiﬁﬁﬁ

= § - . BPA & FEWET F oA uwR ot N H=E
WO R T A W T G g 5 i 3 A i s e
TR, S AR W AN | g e & P e e s SifEsnl
W@ & e (fEE) 5 =0 amef, e e &t W ST RRE |3 s
e TS 70 | e W, 7 A amerE 38 wufis W w0 (I T w
e A 6 aiEw § 9y = @ | 5 s, i e & T BpA sniEee (SR
ek w9 % T deee wEeE W St 1 A A HE S WA, T A S

w1 Frfom w21 2 | sutsrd ufie W 8w W

G T e & ST TR, e qEa
3.

o Ffeier § @ S e e e & A ! ‘ :
Fmﬁ - F‘T#. -.- 'E? 1= BP&, ‘ﬁ‘q'rﬁ | EH ﬁ]'{"ﬁﬂﬁﬂﬂﬁaﬂ

ufi=fda # g% R |
S ;rF.afpm ﬁlﬁm 3, mEE A B @ Tl & Iwm fown
AR S (T B wEHwn =3 Sl s i

Pl sl e R e i

Wbl TS T NG ST NI 3. wEEeiE wge & i
aurE o - e Fred w o R W OAeAES % & fau i o=m
HikAl 2 | FiaE qlee % =9 0 = e T £ |

(¢} AT WA # T S ) O e T # & ] g e
¥, TR B f o g 9 HE W = G T

- &
YRR o B

i weEm el & Fwe, R o= 5
sy silifEw s A v
anaa-pftfae] s a5 # ) @ 1,233

e 1 HiT g

BXG-B-GYL (A—A)



Pussage - 4 Pazsage -4

A study onducted on the impacls of Resunrekiars witn uble to dae stem colls 1o
chimate change over the Cauvary basin of

Tumil Nadu wsing regonsl elimate models

Rauge the neurotoxic effects of the snvirenmen tal
pollutsne  Bisphenol A (BPAL They used &

showed @0 incrossing trend for muximum munbinntion of biothumizal and cell-bused: amsnys
wrnd minimom temporatures, and o decrease

in the number of ruiny days: Those climatic
shifts will have an imparct on the hydrological

tiy examine the gone uxpression prifile during the
difforentiatinn ol mouse embryonic stem caella

upon treatment with BPA » compeond known to
evelis in the region, loed to more Funsoff and Mol e Yisonsen diabuten

lean tocharge. and affoct the groundwater
tibleg. Further, there hus been an jneresse in
the froquency. of droughts in the Bue, This

ani

developmental wbnurmshities in humans Thisy
wero able tn detect and. mensure BPA toxicity

towurds the proper specification of primary germ

hae driven thrmgrs to increase dependency layers, #och us endederm and ectoderm, and the
an groundwatsr resouress to sccurm  their

Crinps

citablishment of neural progenitor eells.

4.  Omn the baste of the presage given above, the

8.  Which ane of the following stiutoments bege
following nssumptions have been made :

reflecty the ornx of the passsgo given ahove ?
L BPA may alter umbryonie devilopment

tn)  Development of regionnl cimats mixdols n vivo.
beipi  In  chooding  clmate-amart 2. DBiochemical und cell-baged assiva ar
hgrieallural practices, nseful in Mnding oot trotments for

pollution- iInduced diseages,
bl Heavy dependens: on  groundwaber

reforces. can b reduced by adopting
dry-lund cropping systema.

. Embryonic dlom celln eoild serve aos o
modet o eveluste the physiological
sffects of pnvirenmenial pellutants,

el Climate thanges tneresse the critioality
of water resourees while simultansously

Which of the above nesumptinn wre valid 7

I.'JII'EI:LE-E[:lugit. ial | prid- & ondy
thi: 2and 4 anly
i} Clhmeate changes eause the farmers to it
mdopt unsustomnble livelihoods  and . Sl I,
risky coping sirategies, dl LZandd

BXC-B-EYLI {5~A)
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6. 1F 3% s divided by 10, thon what iz the
remAinder Y
ftal 1
by 3
e 7
idy o

a. The number IT98126P362 is divisible by T,
Whitt s the value of the digit P 7
fmr 1
thy §
o S
dr 8

¥. From Janusry 1, BO2L, the price of petrol
tin Rupees per liteo! oo m'™ day of the yeur is
a0 = Flm, whore mo= 1, 2 8, ., 100 oad
thereafter romumins constant ©On thé othor
hand, the price of diesel (in Rupess por litre)
an 0" dny of 2091 4= B8 + 0150 for imy n. On
which date in the yesr 2021 am the prices of
these two fodla equal
() 21" May
by 20" My
{e) 19”']‘-‘11‘?
(@) 18" May

BXC-B-GYLI

10,

(T=Al

A hiolegy eless st high schoo] prodicted thal o
locsl population of animals will double in size
pwery bE sopre, The popolation st the
heginning af the yeir 2021 was estimated 10
be 50 animnle. I T ropressnts the populstinn
alter n yiars, thon which one of the following
equnLions represents the model of the clazs far
Le populntion ©

(n} FP=12+6ln
by P=0/+12n
el P=050{2)4n
idy | P=50grH

o o ologe, G0% of studenta: are fenm Tndia and
B ol the students-are givls 11 3008 of the

Indian  studenta are  girls, then what
pereintage of foreign atudents are boys 7

(i 45%

by  40%

ed  A0%

Wi 2

A Stolument followsd by Conelusion-I  and
Conclusion-11 1= given below, You hove to take
thir Statement to be frus ven i il seoms t be
nl varisnce from the commonly Enown foets

Rood all Coneluziona and then Jecids which of
the given Conclusion!k) boglenlly fllowsfollow

from  the S:atement, disregording  the
gopnrtinty-known-facts
Stafement Some sadios ure mobiles. All

mshiles wre computars. Some
computera are watches
Certainly -some  rodicd oo
watehieg,

IHTET RTINS

Cunclimen-d! ;0 Cereainly  aome  mobiles: are
wHLo e,

Which ono of the fhllewing in corfect 7

) Ok CaniduginnT

i) Onby Conchusion 11

ted  Both Oonetusion T pod Concluston-11

fd]  MNeithes Conolusion-Loor Conelusion-1l
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Dhirectiona for fhe folfowtng 4 (fmrk ifema
Riead the flinioing four pasaages and arader he
ftapna that follew, Your answers fo these ttama should
B baeed on thie possapes only,

Paspage - 1

Fig trees i(genus Fress) are  considernd
sa-:'mdhl.u_i:]iu. Enst Asis und Afres and are

comemoen o agricallaml and urbin landseapes.

whire other lurge Lroos o abeonl. Tn neturnl
foruets, g troes provide food Tor wildlife when
olhor risdsiorois iwo scorce dnd support o high
dunsity und diversity of fugivervs (Froit-cating
amimuilsl. T (regivorotes hinds ond bots eontinne
1o wiwit fig trees looelod in sttes with high human
distiirbdnce, saoed fip troes may  promete
frogivoro abnd noo, Lnder frorourmble
mivrochimmte, pliméy of seedlings of other tree

gpeties would grow around O tress.

11. On the bess of the passsge given ahove, the
following sasumptions have besn made -
L Fig trees mn often be keystone specien
in nafurs! forests
2 Figr tress ean prow where other lnrge
wond v Bpecies cammat grow.
i, S.H.H'&Ii. treps can kave: n role in
bicdiveraity camservation
4. Fig treer have & role In the sod
diapersal of other Lree spocies,
Which of the above- assumplions jefire
walid *
W) 1 pod 2 enly
h} < oundy
el 2and 4 only
el 1.3 umd 4 only
BXC-B-GYLI (8-

Possage =2

Al the hearl of agroconlugy = the idea that
pgrovegeyebyme ehould mimic the biediversigy
lowals bod  funcliemng Of motural oossvetems.
Such pprculbond mimigs, Hke their ostoral
models, cen be productive, peat-resistant,
nutrient conesrving, and resilisnt oo shocks nnd
‘gtresses. In  ecosvrtema thers Ga ne wasta’,
nutrients are raevelsd indefinitely. Agrosenley
ame at cloping autment Inops; Lo, returning all
nutrients thet eame out of thesnil Tinek tw the sail
auch as throngh applieation of feemvird miomaee,
It mlan harmesses nolural processve to control

peats  and  build sl fertility ve. through
mtercroppng,  Agreocologingd  prectices  includs
integrating Lrees. with Hvestock and orops

12, Oon=ider the Tollowing |
1 LT 2
2 Fertigntngn
8  Hydroponics
4. Mived farming
5, Telyeulture
€  Vortieal forming
Which of the above farming practices can by
compatible with mgenecology) s implied by, the
passagn ?
oy 1, 4 and 5 only
thy 2 8 4ond 5 only
1,2, 3and § unly
4 nod Bl

]

il

Al
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13.  Which one of tho fullowing ststements Hest
reflects the most eriffend inference that ean |
e mmdde from tho passage given above ¥
tn)  Computers arenot completely safe
(h). Compames produtmg the saftware do
nol ke eybor security seriomely.
ted Btrngent dol socurity lewes are needad.
td) The present trend of communicetion
technologies  will @lfocl oar lves in
futume.
BXC-BGYL

‘witeals; ‘Bn asroplans is & compirter on wings;

Passage -3

Computers Incressingly deal not just
with abstract data like credit card details
and databases. but also with the real world of
phyiical ohjecte: and woinerabie: human

bodies. A modern car i= a computer om

The srrival of the “Internet of Things” will
ses computers baked into sverything from
road sigme-and MHI] soanners te proathetica
and imsulin pumps. There 8 little evidenes
that these gndgeta will
trugtwarthy than their desktop counlerporis.

e any  more

Hatkera bove already proved that thoy cun
teke remots control of Intermet  connocled
cars and pacemaksrs:

Pasaags — 4

A soiin] and physical envissiment riddled
with  poverty, inequities,  wohygionle  acd
mamnitnry condifions  genoroles  the ek ool
mibsrtinng dessipee, H}_’giﬁnﬂ.hhﬁ-ﬂ.iﬁﬂmnl lerks -
personal, domestic snd commimity. hyglene
There |8 no douht that personal eleanliness
brings down the rate of infectious diseases. But
the entry  of the market into thia domain fas
created o folee semee of socurity thot gets
eonditioned and relnforeed By the onslanght of
advertissmenta. Exporivnes In Westorn Eotopo
ehowa thal dleng with personal hygions, ronprel
Improvements in environmentol sonditiens wod
onmponents like cleun wilter, sanitation and food
mpeurily. huve  browsht  down infantichild
depthyinfection rules congiderably. The ohesssion
with hund hygiene alse brings in the persisting
influenee of the merket an personal Heslth,
l.}'lun{de_ﬁ_g' or marpinalising the negative Imppet
o weology and the emergence of Tersiant gorine,

14, On the besis of the passige given above, the

foltow ing wsmmptivme have been mads :

I, Puople who mre ohesseed with perinnal
biygiene tend to ignore the community
hygléne,

2, Emergeney of mult-drng resigtent germs
can b provented by peraonal cleanlimeas,

4, Entry of the market in the dompain of

hygiene increases the fisk ol [nfoctoe
disEaRen.

4. Beientiico ond micre-ldvel nterventions
are not eofficient to bring down the
burden of infectinus diseas,

6. It ia community hygiono implemented
thegh public health’ measures that ie
really ~effective In the boltle pgainst
infections dincasue,

Which of the above assumptions are valid 7

(a1 and 2 enly
ihi 3 nnd4 gnly
o) 4und 6 only
i) L ¥anddonly

(11-4)
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& Stetomuent lollowed by ConclosionT  and
Conclusion-1T i given bolow. Yo hove to take
the Statoment to be true even if'it sesms to be
ot vonenoe from the commonly known tocta.
Rewd all Conclusions ind then declde which of
the given Conelusion(s) logically followsiotiow
from the Stobtement, disregerding the
Statement Bome cats are dalmirahs, Somn
plmirahe. #re  chmire All
chpuirs e foblus,

Certninly. sume nlmirghd are
toahlim,

Cernedpalondl ;. Bomw cats may not-be chaira:
Which ono of the following is-eorrect 2

(g} Doy Conclusion-T

thy Oy Conelusion-TI

el Both Cosclusion-] und Conelusion-1

4y Neoither Oonclusion-I nar Caneluaion-TT

e diistep-

A boy plogys with & ball and he dmps it from o
huight of 16 m. Every time {he ball hits the
ground, it bounses haek taoattain o hoight
475 of the previous height, The ball dovs not
boares further if the prévicus hoight is less

“than 5O em, What is the 'numbér of times the:

ball hite the ground bLefire the ball stops
bouncing ¥

lal
{i)
(]
{di

m e

=¥

Images of enmsonantg of the English alphsbet
(Crpitols) are observed in gl mirror, What is
tivd nimber of imepes of thess which 0 #wol
Tood ik thoer oripinsl shapea- T

(&} 13
B 14
e 16
d} I

18.

18,

20,

(13-A)

A bank emploves drivea 10 lan towards South
from her houss and tueon B ke ledl and
drves-aniother 2 ko -Blie sgoan tuens ol and
drivea 40 Jooo, then ahe tuena @ her rgghl and
drives: for another 6§ loow She sgein turns to
her right: and drives undther 30 km to reach
hir bank where she works, What s the
shortedt distance between her hank and her
hipse 7

) 20km
th 25 kom
ol 30 dom
dl 35¥m

Integera are lated from 70U to 100, 0 how
muny imtegers is the sum of the digies 10 1

Eal, b
thd
el B
dx 8

& wooman rons 13 om towands her Norily, thon
8 km townrds her South and then B km
towerds her Esat. In which direction iz she

from her stértng point 7

iml  An anglo loss than 467 South of East
fhl  An'angle less than 46° North of Erat
lel  An angle mare than 456" Suath of East
(dl  Anungle more than 45" North of Enst
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Pireetionn for the following & (four) iteme ;
Rened B fotlowing four posadpes ard anaer the
iteiima ik folfdu. Your anmeers to theae iteme should
b baged an the passagen orly.

Passage — 1

India {aeea o challengmp mmedists futore
m energy snd climate polley-making. The
problema are multipls | sputtering foasil fuel
production  capabilities;  limitad
slectricity and modern cocking fuel far the
pooreat; rising fusl imports in an unstable global
ensrpy contexit; continoed dleéstricity pricing and
governance challengés lsading to iR costly
deficits or surplus supply; and not leasl, growing
environmental contestation mround land, water
and air. Buot sll s oot bleak: growing envegy
sfficiency programmzs; integenled urluinisntien
mnd transport policy discussions; inropds Lo
enhancing energy aceess gl security; and bald
renawalls energy Intliatives, even I ool folly
conceptualised,  suggest  the  promise  of
teanifirma tion.

BLCERS Liw

21. Which oue of the following stitements bewt
reflects the eritical messpge conveved by
the paszage given ahove ?

fa) Indin's l:hrérg}' dutision-muking process
is gver T cenprles nrd
imlgreernyisted.

(bl Indie's h:I:IE[_Ej‘ snd climste policy 8
heavily tunad to surtRinnhle
evioloprivppt gunls

(e} Indin's, énergy amd climate actions sre
ot e patible with s broador soeial,
economic and onviroamintal gools;

(d)  India's énergy decision making provess
la mreasightforward supply-orionted and
lgneres the demand Hide.

BXC-B-GYLI

(9504 )

Passapge — 2

There are reports that same of the
antibiotics soll n the market are fed W
poultry  and ather Tiveatosk nd  growth
promolars: Overising Cthese sobstanoss Gin
superbeps,  puathopens  thet are
rusisturt to multiply drugs and could be
prased alonp humeans. Mindful of thal, soms
firming companies have stopped uding the
drugs to make chickens gain weight faster,
Hince Denmark banned antibioble growlh

Ureto

promptend In the 1980s, the majer pork
exporter Bave i b producimg mory pless —

mnd the animals get fower disoases,

22, Which vno of the following statements best

reflects the crifical message conveysl by
tho pnsssge given above ¥

o) Prople zhould aveed  esmswmming. the
products of enimal farming.

(b} Poosds of snimsal origin should be

replaced with foods of plant erigin,

(el Tleing antibletles on enimale shoodd  be:
hannedl.

tdy  Antibiotles should only be used to treat

diaFasea.
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Puszape =3

Poligy makers and mdin have pleced the
blume for skyrocketing food prices on & variety of
fuctory, Ineluding high fuel prices, bad wenther in
key fooll producing countriss, and the diversivn
of lond tn nondood production, Inereased
emphusis, bowever, has boen pliced Gt & strge in
demond  for food  fom the most  popolous
pmwrging econamies, It scemis highly probable
that muss comsnmption in these countriea conld

be woll poised to create a food erisia,

23. With relerencs tn the above passage, the

follow ngmrdumptions heve bodn mdde |

1. O producing dountried are one of the
reasnnA for high food prices, 24,

a2, Il there ig @ food coism in the world im
thi near foture, & will be in the

DENVOTEINE AONTHITILEES,

Which «of the shove #pssumptione iwEe

valid 7
fa] 1 only
bl Zenlr

(] Buothland2

iy Memthed | norl

BXC-B-EYL) (17-A)

Passage -4

A pentrn]l  message of msdern
development eoenomivs 8 the impdrtnnoe
ol income prowth, by which is meant
growth in Gross Dorestne Prodost (GDEL
In theery, rigng GO crontes employment
and Investment opportunities. Az incomas
grow {n & country where the level of GDP
was apce low, boussholds, communities,
and gevernmenta-are merensmgly able to
sl himidhe anme funde for the priduction of
thifgs that make for & good fifs, Today
GIDTF hes assumed such o significent place
in the development lexicon: that if
gomeony mpniions "sconomid growth”, we
leney thiny menn growth in GDP.

With referonoe 1o the above passage, thu
following assumptions have heen made

1. Rising GDPis easéntial b & eountry ta
be u devoloped country,

2 Riging GDT guarantess a ressonabls
distributicn of meaeme o all households,

Which of -the sbove -mEsumplicos  isfare

valid 2
int Pemby
fhy Z2only

ied  Both1and 2

(dy Meither 1 noe 2
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e

25 Beven books P, &, i, 8. 1, I and ¥V are placed ' gg
side by side. B, @ and T have blog eovers and
sthiar books have red covera, Only 8 and U aro
new hoolka and the regt are old P, B and 5 are
L pirpirte) 1hie reat are Uazettaars. Badks of
ol Gaetteess with hlos covera are
n) Gl B
b QuodU
gl @aod T
(d} TondlC

26,  Reploee the ineorredt tovm by the correet torm
b Ehv iilesiy Adduanoe

&0 T 4018, 10, 21,.18,31, 28, 43,40
where odd terms und even terme follow the
Emie paltern.
wl A
by 1
el B
O A

27. Following is & matrix of certain sntries. The
antries fllow i certoin trond row-wise, Choose
the rodastng entry (7)) necordingly.

™| 1A | 8¢
3 9H A
104 | i8¢ | %
imi HB
bl dA
el AH
fedy  3E] e

8. You are given two identienl sequenses in two
FIAsR
_E:Lﬂ.lun.'m:u-lz B4 815 |25 | 236-258
Sequence-fL: | & | & | B | Q | ‘D E .
What s the entry In the place of C for th
SequensiE-11Y
w5
b} &
el HOTG
dl H2B105

BAC-B-GYLI {1B-A)

A person X from & place A and soother porson
Y from o place B set out al the game time o
wallk towurds such other. The places e
gaparntod by @ distnoesn of 15 hm.
X walké with s wniform speed of 16 kmihr
and ¥ walls with o uniform spoed of 1 kmvhr
in the first hour, with o unifirm speed of
L5 kmr in the second hour and with o
unitorm gpesd of 16 km/he in the third hour
and & on.

Which af the fallowing ia‘are correct 7
L. Theytake 5 hours to meet,
2.  They mer midway between A and B,

Heledt the dorrect nngwer usiny the oede given
bl

iw)  Llonly

{b)  donly

ey  Bothlend2

idi Neithen 1 nor 2

A student mppeared in 8 papers. The
maximum marks are the same for each papor.
His marlks: in thess peperd -ave in' the
proportion of 5 : 607 @ 81 B 1 10 Overall e
peored BO%. I how many number of papers
did be score less thon 60¢% of the maximim
munrls T

fa) 2
by 8
ey 4
id) B
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Directions for the followlng 4 (four) Mems :

Head' the fﬂ!ﬂul!ng four possapes ond ansuer the
tiemna Myad follew. Your apswers io these items-should
e Tl o e DaEsageR only,

Ak, What s the mosd fogreol assampfion thnl
ein bo mida Trom the peesage piven-above.”?
Al Mo mom ven e withoot adbaring o
sorne roligioos denpmingtinn
i It iz the duty of everynne to propagnte
ani's rolighoos denormination
e} Religlovus denominations tend to ignore
theunicy of moan:
d} Men do not endesstand  their own
retigious denaminstiong,
BXC-B-GYL 121 =

Pasgaps —1

With respect to what are eallod
:lﬁrl.nminnﬂﬂnﬁ-l:l]'ret_imnﬂ. I verpume i el
oy e m judpe of his own refiglon, there is ne
such thing ss religion that (s wreng; but if
they are 1o be a Judge of éach othur's
refigion, there in no such thing is 4 religion
that = wght, and therelr: ull the warld 2
right ar nll the werld I8 wrong in the

matter of religion,

Pussage - 2

It s eerliiing, thpl sidithone, wars, pnod
eonbempl or beench of (e Tuwe are not 5o muock
to b impeited to Lhe wiskedness of the subjecta,
fa o the bid stole of o domindon: For men are
nol bors Gt for sillzenship, but must be made s
Buestdos; men's niturnl pakssiond am evarywhom
thir =ame; and if wickedoess more prevnils, omd
more  offences  are eomumiti=] i oo
tommonwealth than in anolher, i is dertadn
that the former has neither nough porsoed th
end of umity, nar framesd s lnwswith sufficisnt
forethoughe; and that, thurefere, it has failed

making quite good iks pight us 1 commonwealth.

32, Which among the following is the magi

logiva! and rofional inference (hat can bi
mnde from the pasaage given above 7

i} Seditions, wars and broach of the lawe:
wre mevitahls in every domlnion

1l It 12 not the people, hul the =oversign
who ie respansibio for all the problems of
ane thaminkimn,

ie)  Thot domimion'is the beat which punaos
the aim of unity and has lows e good

eitlee mship

() Ko s impessible for men io estahlizsh a
ol g

Al
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Pussage -3 Pussage - 4

Inequality violates & basie damoorntic norm : Aristocratie  governmemt roima  iteeid by

the ‘equel Etsnding of citizens. Equality 15 o fmniting ton narrewly the cirels within which
relatinn that phtains bhetween persins in reapset perwet im-enifined ) oligarchie govermmenl muins
of wome fundsmentnl charscterigtic that they | fwell by dhe  dnosutlous  serymblo  for
-share in common, Equality is, morally apeaking, immeadiaee wealth, Aot even democracy miins
& defsult principle. Therefore, peracma should not itaell’ by excoss of  demeeracy. Tie basc
be disormminated on grounds such &8 race, caste, principlo is the oguil rght of all 1o held office
gender, ethmicity, disshility, or clags. Theae anel delermine public polies, This ds st first
features of homan ‘eendition  are  morally glonee, o deliphtfol srranpement; ft becomes
treelovant. The ides that one should Lol disgsirnus hdcmuse the people ave ninl properly
‘perdnns with respect not only berause some of vipripped by uduention to select the beat rulers
these peranne posieas Ao specind fealures or atidl the wizest poursee. The peaple have nn
talent, for example slkilled  erichetors, gifled undorstanding and only repeat what their
mmgiginng, ar [iterary giants, but beeausa porsona rilere aro pleased to eell them. Swch @
are human beEngs, @ By now part uf denvemey is- tyranny or autserssy,.  — Flato
CATHIRONASIES marnlity,

33, With reference o the above pessage, the |34 Which one of the following stulements bewt

following peawmptions hove been made reflects the erus of the pussige glven ubove ?
L Eguality 18 I proreguisito for people to
participate i the multiple transactione ial  Human  seciefips  cxperiment  with

uf mocmsty from o position of confidence:
2 Checurrimee: of imeguatity is detrimental
bo the surviveal of democrecy.
3;  Egual standing of all citizens s an (des

differunt forms ol Eovormmente

th} ‘Any form of povernment tends in

that cunnot actustly be resfised sven in doterigrate by ewcess of its  basic
i dornoerngy. prineiple,
4 Hight to squality-ahouald be incorparsted
inte por values and day-fo-dav political Gl Rkt ol il o ensared &
MR porfect,  functional snd  swstainabls
Which of the ubuve assumptione gre valid demperney,
(& 1 and 2 anly
tb} 2 and 3 anly v Hawing n government 15 8 neceasary evil
gl 1anddaniy becauas tyranmy s inheront m uny form
id)  Annd4anly of governmenl.

BXC-B-GYLI {294
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a5

aT.

BXC-B-EYL

In & jgroup of 120 persons, 50 are Indinns and
rest ure forcigners. Further, 70 perdonk in the
griup cun spenk Engiish. The number of

Indinns who oon speak Englizh is

b
a0
B0 or Lixsa

At ar maTe

Lyl
(ki
Lel
Lef)

Conzider wll  S-diglt numbers  (without
vepetition of digits) obtained using three
non-rerg digits which are multiples of 3. Lot 5
be their sum.

Which of the following isfnrm enrrect ¥

1,  8iaalwaye divisible by 74,

2 5= always divisihle by 9,

Select the correct pnwwer waing the code givon
bon vy

tm) 1 anly

b1 Zanly

() Both land 2

d)  Weither | nor 2

There are two Classee A anid B haying 25 and

0 students respectively, Tn o Claas-A  the

highent score 18 21 and lowest soore is 17. In

Closs-H the highest score s 30 and lowest

georn i 22 Four students are shifted from

Cluse-A to Olass-H.

Congider the following stalemenis ©

1 The average score: «f ClassB o will
diefinitely decrease.

%,  The avernge peore. of Class-A  will
definitely inerenas.

Which of the. shove. stalumenta

correct ?

in) 1 only

(b} ‘2 anly

{el  Both 1 umd 2

idl  Nelther 1 nor 2

in'aTe

38,

28

(25-A)

writlen In  oppoaite order;  wnd  (he

{nneider twe Statements and o Question
Sratopent-1 = Prign (8 4 ranks hn:lm Hepma
and is 31" from the battom.

Sritmens-¥ . Enn i 2 ranks abovie Besma
and is 37 foem the botfom,
Question :  What = Seema’a rank from the

top in the class of 40 sudents 7
Which ane of the following te<orrul in respect
nf the Statements nnd the Guestiog 7

i} Siatement-1 dlone id nof sufficient th
pnawer the Guestion

bl Seatament-2 alones ks pol sutficent o
anEwar (o Guestion

fer Mither  Statememnt-l slone  or
Statement-2  alonpe v saffisEent Lo
unswer the {Yuestion

(d} Both Stntement-1 ond Skoloment-2-a18
reqitirud to Answer the Question

(ondider twe Stniemonte and a uesiion:

Sipgmant-I ¥och of A aned T |18 hessier than
anch of B, E and F, but rnone of

thasrn 18 the heaviest

Stetemens-2: A ls heavier than D, but s

lighter than O,

Who is tho hewewssl

AR DendR?

Which ome of the folléwing ie corroel i respect

of the Btetements und the Question ¥

(pd  Setatement-1 alone & sofficient Lo

anwwer the Guestion

Lheention : ATang

tby  Brtement-2  mlome i sufliclent to
angwer the Chisstion

() Both Btatement-1 wnd Statement-2 ure
requited to answer-the Quisstion

(d]  Neither Statement-1 alone  nor
Statepent-2  alone i sufficiont o

answer the (Jussnon

In the English alphubut, the firdt 4 letiers are
neEst
4 lotbere are written in oppsitle order and Fo
om; und At the end Y and Z uee intercbanged.
Which will be-the fourth lettor 1o the fight of

the TaM! Jetier

M X
b} T
el H
dy I
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Directions for the follawing 4 (four) itema
Raund the follticies four passooes and anawer (e
shiris that folloo, Your ansmers to thege tteme should

fhil el Oek e perRiures oy

Possage =1

Nothing can exiat in & natural stats which
can he called gond or bad by common assent,
dince evary man wha I In oA nnlueal slats
copsules only his own advantage, uid determines.
what i good or-boad secording 1o his own fanoey
and  fnaofor s he hes regond for his own
advantoge alene, and holde himsell rosponsible
Ly e glave himeell by oy Jiw| and thensforo
sin chonet be conesdved in oo natural stabe, but
only i 8 civil stute, which i3 -decreed by commaon
porsent what is good or bad, and ssch one holds
himeelf reeponsible to the state.

41, Which cne of the following statements best
reflects the centrnd tdea of the passspge
glven ahovs ?

(8] 'The coneeptions: of what i3 right or
wrong exist due to the formation of a
Atfte

th)  Unlesa: s ruling autherity décides as in
what iz right oF wrang, no mon weuld ho
morally right,

il Man 1z inbherantly immorsl and pelfish
in a natural state;

{d] The idea of winit i8 right or wrong is
neessary fur the survival of buman
KPOTER;

BXC-B-GYLI

Passnge - 2

In the immediate fiture, we will ses thi
inereaging commodification  of
technalopine — Artificial intelligenceand robotice,
ATy moanulocturing, cestom  made  halogical end

MATY T8

phormaceutien]  products,  lochal  auconomaoa
weapone. aod driverless carg, This will  pose
eomiitidiiitig,  Thie mors]  goestlen of how &

driverfess, chr will decide belwoen  hitting  a
Juywallher pnd sderving wnd damagiog L s s
ofton boun dobated. The ahswor s buth simple —
egave the humen e — bnd somplex. At which
mnpgle ehoald the car.awerre — just enoogh-to save:
the jeywaller or mmore than enoogh 7 If the-
driverlesz car is in Dublin. who would cake the.
decislon ! The Irah Government, or the car's
siging] code writer In Ualifornis, or & eoftware
pregrammer in Hyderabad o whim maintenanee
i3 eutsnuresd Y I differert national urisdictions
have different fine print oo priodtising o humiano
life, Bow will i alleid insirooee’ wind Tnvestmont
ducigions, ineloding tronanstional enoes T

A2 Which of Lhe following stald ments besd rafloet
the rationoal;, plausihle and  procticol
tmptleations that con be derived from Lhe
psdrnpe given abiove ¥
1, Too much glebalization i not in the best

interests of any couniry,

Modern technalogias are  increasingly.

blarring the sconomie bardors,

3. Tnnovation wnd eapital have fmpingsd
gn the domain of the State:

2

r & Fublic policy of svery eountry ahoild
fooce on  developing it own aapply
oliaimsa.

B Ceopolitics will have to  reconeils Lo

oy gl e anid nnoprfsmiics
Select the correct answer using thi code given

Toalowe |

gy 1,4 omd Blonly
b 1.2 §omd 4 only
le) 23 and 5only
dy L2 a8 4undh

(27 =A)
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FPaissagi —

The resolution of banloruptey CABES of Indinn
banks wunder the Insolvency sand Hanlruptey
Code should halp bring non-performing  asaets
(NPA} situation under rome contral. Daapite the
slow pace of resolotions by the National
Company Liow Trilamal, the Uods can be helpdul
in cleaming up bank books in future eredif cvcles,
The mespitulisation of public sector banks ton
gnn holp mcresee the capital cushion of banka
pnd indoce them to lend more and oot
veonumic activity. But bad debt resolution wnd
recupitilisation are only & part of the solution o
they, by themselves, can do very little 10 rein in
reclless lending that has pushed the Indiao
bainkimg gystem to ite ourrent sorry atate, Tnless
there are spstommc teforms that addresa the
prratilem of unsustomdble lendbng, futorn crodic
evidles will puntinge to strees the hanling system

43. Whith one of the following stalements bead

rofTects the mosd fogleal, rolionoal and

freacticel  suggestion  implied by the

pussage given aboye 7

l4)  Lending by the banks should be closely
memitored and regulated by the Central
Clovertmmihnl.

ibl  [ntereat eates should bo lept low so s o
induse hinks b lend more, promote

growth  and  thersby  hoost

BEARDITH Betivity,

i} Merger of many banks min o few larpe
banks alome 16 the longe-term solution
meke them viable pod provent their bad
PRI AN,

dl Indism  banking wywlom  requoires
gtructural. referms 08 a0 long-term
solution for bad |osns problerm,

credit

BXC-B-GYLI

(29-4)

Pruhssage -4

In Iodin. the ohjoctive of macroeconomic
policy 18t enhmnee the econamie wellfvre of
the people, and any ane wing of such macr
policy, monetary  or  fEoal, ool
independently work withoul active supparct of

angther,

Which ane of the following statements best

reflocts the corcllary to the passage given

A
(hy The central bank eanpol  work
independently of the Governmoni

i) Government whould rogulite fnoncial
markets and inatitutions clesely,

e)  Market sconomy ia ot compatible with

the aocinliat palicies of the Government.

id) Finmeeial asctor mforms e roguired for
erthancng the esmnomic wollire of the

pounte.
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Consider the following Tublo ;

[Floyer Lhe Firat

Halls faced|
in the
Seconid

| Huns | Balls Rina
{énred in! faced n | =scerad in
che Iirst the Seoprd)
Innings | Immings

]m:[n_p

Bl e L4

5 13 &0

5 | 75 | a0

A L
B &5
€ adl
& 13 Bh. 12 il

Who 13 the fastest run scerar in the Test
Mg

Half of the villagers of o certoin vallago have

thelr owm Bousdes, Une-fifth of the, villogors

cultivaie paddy, Une-third of the villapers are

literate, Four-fifth of the villagers are under

25 yenrs of sge, Which one ol the following

gtatemants s cortutnly corrsef T

¢m) Al the villagerd whe havo their own

hoses are Hternte.

Some villagers under 25 vvars of gpr o

literate.

Only half of the villagers whe caltirate

paddy are literate. _

Mo villeger under 26 years of ape has his

amn hotes.

Congidar two Blatements and & GQuestion :

Strdement-1 2 The last day of the month is-a

Widnesdiy,

Séntermanit-2 : The third Ssturddy of the munth

waa the seventeanth day

What day is the forisanth 6f Lhe

given month 7

Which one of the follgwing (s correct in respedt

of the Statements and the Question 7

fe)  Statement-] alone 0s pulficient 19
nnswor Lh Question

ibl  Statement-2. wlone

pnswer the Questiom

Both Statement-1 and Statement-£ are

required to answer the Question

Neither  Statement-1  plone  mar

Statement-2  alone  [& sutficient  te

answer the Question

ikl
le}

(d)

CPumbien .

15 sulficont bW
LCd

i)

31

48,

A

Which day is 10" Oetoher, 2027 7

(m)  Bunday

thy  Mondey

ey Tuesday

idl  Haturday

Consider  fwo,  Btetementz  sod four

Donelusisng given below, ¥ou have 0o ke tho
Statementd th be broe even W thoy sem 1o he
il whirianee Trom the rommonly mown facts
TRead all Conclugions and then decide which of
the given Conclusionisl logically llawafnllne

from the Stetements, disegacdiog  the
ooty known Toote,
Stutement-1 2 Somy gresns urne o

Statement-¥ ;.  Bome bloss ore hlaclks

Bome greens are blacks.
N greenis hlack

All greens are hlacks.
All hlacks nre gresns,

Concduelnn-1 .}
Croncduelon-2 :
Canetneina-3 2
ﬂr'r.r.lr:.ﬂ.'ﬂg:lil.': -If ry
Which an# of the tallowing s correat |
) Clanelualon-1 amd Coneluding-2 only
(b}

el

Comcluzion=2 arid Cotolugion- only
Conelusion-d pod Conelu=isn-4 only
(el MNeither Coanclegion 1 nor 2 aor J nore 4

What s the ealos of 9 in the dseguence
2 T 2R AT K 1RRAT

(@) HOd
thy 005
te) BOT
id) oy
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Dirvotivns for the following 2 Mool D ; |
Revdd | bl following hioo ' posagos mod anger tha
itk phat folfowr. Your anziers to Hhise {ema should
b bieword on the passages only.

Passnge - 1

The beat universities like Harvard and MTT,
despite having the luswry of having semne teuly
axcetlenl  taachers on  their  paymoll, ars
meyedsingly smbracipng the Sfipped clasariom™
format, where students listen to video lectures at
home, and spend class time applying thelr
Imowledge,  solving  problems,  diseussing
exampies, ole. Professers guide that diseussion
and fill in wherever necessary, explaining those
bita that seen to be eluding the students ond
throwing in sdvinesd idess that bappen Lo be
topieal, Thess universities have made their video
fectureq available free for anyong in the world.
They are alse  edtoursging  colliges  and
umiversities all gver the world to integrate thess
online eoupies into thedr pwn pedagogy, picking
the pisces thot ure appropriste for their needs
and huilding o package sround them,

8L Which one of the following stutemente -head
reflecis the vendrad fdee of the PREEREE

given abowe 7

(a}  EMficacy of umiveraitioa would be betcer
in nnling mode of conducling claséroom
tullion a= compared o conventinnal

. mwthod.

M Availability of higher sducation ean be
mude esasier and cheaper  without
diluting the conlént.

€l We meed not  invesl omeh  in
ifridlroctore related ' W hagher
educution and yet develop belter homan
and Bocial cepital.

(d) Private scetor lnatitutions o higher
efucation a2 well s coaching instititos
ean laks advimtage of thie opportumty
and thrivi well.

FPresage -2

Cuar cibies ars avtremely  vuloorible o
ellmate chanpe becanae ot lnrge concentrations of
populations and poor infrastructarg. Morsover,
population densities are Incrouding in them bt
wi huve not yet developed the systoms to address
elimate ehange fmpacts: Car citics contribute to
i per cent of the GDF, Lt there sme oot &naugh
facilities to cater ta tho neods of the people, It is
iu-lpurtmt to addrezd the Issues 'of air quality,
transpiet, elo, that are wital o identifidiog
auatainableaolubivng. We need oo invalvecilizons
n 'city planning and create an ecosdystom that
maestE the nodds of the penple.

2. Which among the following iz the o

fogival and raffonal inference that can be
rrnde fromm she prsssame glvon above *

fn}  Our eitioe rood to have welldefined
ndministrative  soteup. with  sufficien)

sotonomy.

(hi  Ever ingrensig population densilies v o
hindrance in our efforia o hehicve
enatainablo dovielopmemt.

ted 1o mnininin and develop olir citive we
nobd to ndopl sustsinabilite  related
interventians.

(! Public-Private Fartnorship moade of
drvelopment is the viable long-term
swlution for the infrustructure  and
suptatnnbiiity prohlemea nﬂruﬂlp.

BXC-B-GYLI (33-A)
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ar T i
(hy, ¥ 360
tel. e300
idl =270
B6. [0 a pode Lnnw MATHEMATICS' s
written as  CLESIDNZUHDR. How s
'CHEMISTRY" written In that code Jamimage
{a)  THDLHRESX
(b}  BIDNHTSSX
(el BIDLHTSSX
() DEFLIRUGE
BXC-B-GYLI

dny @nd Vijay spent an equal smount of
maney 1o buy some pena and spocial peneila of
the sam gquulity from the same store: if Jpy
bought 2 pens und & peneils, and Vijay biowght
2 pEnd und T peneils, thon which one af the
following 18 sorrect. 7

(a)  Apeneil eontn more then a pen

(1 The price of & ponril 18 equal to that of o
peEn

{ey  The prico of u pen is twe timuos the rice
of o pencil

\dh The price of a pen is three times the
price.uf a pencil

Fiseops] 40 m:a.rhll mire than & io @
examinution: 10 seomd 10% Isaga mscks thas
P, thon how mmeh did O score ¥

(m) 380
ikl asn
{cl 40N
{di 420

A peraon P psks one of has three frinnds X us
te how much money he had. X replied, “IT ¥
pives me © 40, then Y will have ball of as
much a8 &, but i & gives me T 40, then three
of us will hove equal amount,” What s the
total amcunt of monay that X, Y and 7 have 7

5.

(3E-A)

Al whith ong of the following times, do the
hour band and the minute Kand of the elack
mako un angle of 1807 with aach athee ?

ia) AL T:00 houra

b}  Betwoen 700 hetrs and 7:08 boors
ol AL TS hours

{dl  Betwion 7908 haurd and 7:10 hours

In an ohjpctive type test of 90 guesiions,
& marks arv wllotted for every coreect answer
and 2 morks are dedugted for every wrong
unawer. Aftur uttempting all the B questions,
& student got & total of 387 marks. What iv ths
mmmber of incorrect responses

a} 4

113
o) 27
tdl 43

Comader the following addition proklem -

aP + 4F + I'P' + FP = BQ2; where P, @ and R
ari :Ei:ﬂ'r:mnij:ﬁgﬂs:

What i the arithmetic mean of all such

possible sume 7

{m) 102

by 120

fo) &

(dr 2320

Considor  the  filltwing et plieatisg
probikom |

PR % 3=RQYDY. wheéra P, @ and R are
different digita-and H = 0
Whitt is the valan of (B =81+ Q!

al 1

fhi 2

ey -B

il Camnotl  be detormiped  dui o
mauificient dats
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Dirvetions for the folloutng 2 (twa) items :

Regd the following fwvo passages and aestvr the
iterms that followe, Your anewers 1o these tlems shouid
be baued e the posgages only

Pasapge = 1

Cana demeeraty nveid being o welfore state
for long 7 Why cannot mess welfsre e leli
entirely {0 the morkets ? There 45 a bufli-ln
tension belwoon markst:  end  democrary.
Miirkeis do not work on-a obe-persgn-one-yoto
pringiple us demoerurdes da. What one gets out of
the market phive dvpends on ome's =odowmenls,
alcllls, purchasing power and the foroes of
demaund and supply. Markesta reward individual
initdative ond gxill, and mav alse 1 mosy from:
the bettom rungs of society, bl some pouple
never gol the opportunity to develop skdlls that
tnaclels: domend; they are simply los poor and
o handicepped: or skill formation takes too
loryg. By croating jobs, markets moy be abls to
help even unskilled people, but capitolism kas:
alwuys witnessed burpta of unemplpyment:

Tussnge - 2

In wur schools; we teach pur children nil that
i#- thero o - know -abont pheiies,  moths aod
history: und what-kavesyou. Bul do wo tesch
thum about the hitter caste divide thut plagnes
the country, about the spectre of famine thet
ptalks large partd of our lend, sbout gender
sanaitivity, about the pd.umild.ﬁ_l}' af atheiam as o
thoice, #te. 7 Byunlly important, do we teach
them o pak queslions, or do we teach Uhem only
ta paspively mxigive tuor wisdem' Y From the
cocooned  world  of scheol,  saddenly, the
acdolescent, finds himeelifherself in the onfettured
world of nniversity. Here hatshe i swept op oo
turmoil of ideas, influsnces and idoolopss. For
semgone wha has been discouraged frum ssking
quetkticns and forming an opinion, this transition
van b pamtal

With weferonos to the above passags. the

fullvwring sspumptions have been mode

L Modern democracies Tely oo the wmarkot
borees to eooble them fo be wellpro
RLafeR,

2. Markets ensure sofficienl  econumic
growth noonssury for demoerasies 1o be
efleative,

3. Glovornmoent programrmes aro needed for
those left bohind in ecnnomio growth.

Which of the ahovie pesumptions jafare

valid T

ind 1 ond & only

thi -8 only

oy 3 and $only

)y 1.2mnd3

BXC-B-GYL

B2  Which one of the fllowing statements Sesf
reflecis the centrod idea of the passaje

given ghove 7

ial  Bohool Gurrieulumn 86 oot compatifle with
the exportalione of children and parenis,

(b} Emphosis oo academic achlevements
does give time for dévelopment  of
persnnality and skills.

led  Preparing the children ta be bettor
citizene should |w the responsibility of
tho oduocation syatem,

id)  To b o botter citizen; the preseat world

[37-A)

order demuands societal and life-coping
shills iy sddition to scademie santank,
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Bl Theve are three poinfs P, Q and B oo o
atenight line such thal PG QR =8 6. fni=
the number of possible values of PG : PR, then
‘what s nequal te ?
fnd 1
by &

a): =4
dy 4

64. OUn achesg baard, in how niany differont waye
cHn 6 oonAsstutive sjukines be dhosen oo the
diagonals along & straight polh ?
a4
thy &
ted B
dy 12

83, In theo zeries _b:a ba b abab anhk: Gl io the
gix blanks () using ene of the fillewmng given
four 'choiees such that the series follows a
sperific order,
fal  bakahi
thl  banbbn
i) bhanbb
idl wbabab

6. Uming?, 2 3 0, 3 s digils, how muny distinet
numbera greater than 30000 cun be formed ?
fal .8
bl &
el B
12

87. Conaider the following statamenta :

1 The gum of & :énaemtiw [ritbegors man be
100

®  The product of thres consncutive nataral
numhers can be ogqual to their sum,

Which' #f thn obove statsments (sfars

porrect ?

{e} Lonly

b 2only

{c}  Bothland?2

idl  Noither I'nor 2

BXC-B.GYL

(118

(38 -A )

& vubicalveaset of mide 1 m i5 filled completely
with water, How mony millilitres of wrater
in contained in it {oeglect thickneesa of the
vesrel) 7

(w1000

thl 10000
fgl L0000
(el 1000000

Thert arg B pmqﬁa mrranged in a ruw,
Another person has to ahake hands with 3 of
them o that he should not shake hanids with
v cumsecutive pevaons, In how many distines
pussible combinatisne enn (he handshales
ik e

fai &
thy @&
el B
) 8

An smount of money wos distriboted smong
A D and O in the ratio p - g e,

Conerder the following stulomenta :

1. A pgets the mukimum shoe if p i
pgreater than (g = rl.

2 O gets the minimum shore if r i3 lass

than (p 4+ q),
Which of the alwwe sintemimts isfare
eorroel ¥
tal  Latiby
ik Ronly
{e} HBothland2
()l Neither Inor2
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Iirections for the following 3 (three) femn

R the fallowing dwo pesioges und ansr
it i that fallduy Your angers do Mese ems should
bt brgwedd on the passoges only,

Parsage -1

Medieval merchants rigloed the hamsrds of
ihe Silk Ropd to reach the markets of Ching;
Partuguess caravels in the 15% santory sailed
bevandl the Boundg of the known world, sesrching
leza for knewledge than for gold and epices
Histnrieaily, the driver for opening frontiers has
alwayr been the search for ressurees: Science and
curinsity are - wesker drivers: The only way to
open up Apace, whether the space of solar system
oF interstallar apace 1R tn create. BN acomoTNin

engine dnd that sngine ia resourcs-extraction.

TI. Which nne of the fallowing statementa bent
pume i the paraage given ahove ¥

() Wealth generation g the primary mative

e any humon endesvoe.

(h)  Space, whether spare in solar svatem or
interstelbar spnee will govern our foture
ATy,

@) Humon beings hre motivated to exploro
nevw frontiers principally by ceoonorme
clrsidernbions:

(d) Wealth pensration i8 baeed oo thse
riak-taking hehaviour of pome men.

‘BXC-B-GYLI

Pussnge - 2

e moat people would sgree that tetling
deliherate lien 8 wrong, except perhaps in certuin
apecal atuntinone where more horm will be dane
by tslling the teuath. Even the meat truthfol
peaple probably tell & gond many more lea that
might be rognrded 58 saemantie liea: their uae of
words conlaing somi measare of falsehnod, Thore

o lera deliberole”

T2, The idea which the free part of the pazzage

st honE i

inlagreemerl aboul selling lios,

b desagrgoment ahour welling Tiea.

fe) disuprdomond wbout elling the tridh,

idl  dismgreomond aboul the horm an Lelling
ihe truth.

T3, Whieh ono of the fllowing hobits i feund

mury oflen in good poople ?
inl  Mixing up the true and False

b1 Intentisnal mixing up of truth with the
talas

el Folsifention of fects

iy Complete coneralment of troth

(41 -A)
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75,

A gpic disgram  shows the percentage
distribution of proteina. water and olher dry
elements in the homan body, Given that
proteins  eorrespond to 16 and water
correspanda tn T0%. 11 buth preteins and the.
ather dey aléments correspond to p%, then
what la the central angle of the sectar
reqresenting p on the plo disgrom 7

() B4
e
e} 108"
fdy 120*

Joseph visits the club an every 5™ day, Homh
vigits on svery 249 day, while Sumit vigits on
ovary 9 duy If all three of them met ot the
club on nﬂ_ﬂnﬂn]_. then on which doy will all
three of them meet again **

fad Monduy

by Wednesdor
el Thirutduy
il SBunday

The difference hetween a 2-digit number and

the number ohtained by intorchamging the

postions of the digits ia 54,

Conmder the fullewing statemants -

L. The sum of the twn digita of the number
can b determined ooly if the praduer of
this twi digites is known.

2 The différonce botwsen the two digita of
the number con bo delermined,
Which of the above statoments isfare
vorrect ¥
tal  lomly
(b % only
ied  Both 1 and -2
) Meither 1 nor 2
BXC-B-GYLI

T

T8,

(43 - &)

X =mid to ¥, "At the dme of your hirth T wae

twire ae ald &= you are ol prosent” I the

preqens age ol X8 42 years, thon consdder the

following statenients ;

1, B yehare ppgo, Lho bge of X wag five times
th mgn o Y,

" Aflter 14 vours, the bee of Xwould be twn
timnen tho ngo ol Y.

Which of the wbove ptotements infare
enrrect

tad  1only

fh} 2 onky

(e} ‘Bath land 2

idy  MNelther | oor2

If the price of an arficls it decrosed by 206
und then the new price is incrensed by 45%,
thirn whit is the nil chynge in the price

fl e

(b} 5% increare

(e} A% decreads

iy Canned. i determined due o

insullicient datn

When o certain mumber in muligplied by 7, the
product entirely comprises ones onky (11114,
What i the emallest vuch number !

i) 15713
by 16724
{ck 16753
) 1587

A man empletien T4 of 1 job in 2 daye Fow
meny 'more dase will | tike bim s fmish the
job it quantam nf work I8 (urther increased by

BU% T

a3 24
(B 21
el 18
dr A&
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